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1. The radius of a conical tent is 7 m and the

height is 24 m . Calculate the length of the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_34FrCnZ5yIhu

canvas used to make the tent if the width of

the rectangular canvas is 4m ?

° Watch Video Solution

2. A oil drum is in the shape of a cylinder
having the following dimensions : diameter is
2 m and heights is 7 m . The painter charges
Rs. 3 per m” to paint the drum. Find the total

charges to be paid to the painter for 10 drums

?

° Watch Video Solution



https://dl.doubtnut.com/l/_34FrCnZ5yIhu
https://dl.doubtnut.com/l/_Di291jfwnjZk

3. A sphere , a cylinder and a cone are of the
same radius and same height . Find the ratio

of their curved surface areas.

o Watch Video Solution

4. A company wants to manufacture 1000
hemispherical basins from a steel sheet . If the
radius of each basin is 21 cm, find the area of
steel required to manufacture the above

hemispherical basins ?


https://dl.doubtnut.com/l/_Di291jfwnjZk
https://dl.doubtnut.com/l/_B22E3Kz78NO6
https://dl.doubtnut.com/l/_Mt5VYMeq0yim

° Watch Video Solution

5. A right circular cylinder has base radius 14
cm and height 21 cm.

Find its area of base (or area of each end)

° Watch Video Solution

6. A right circular cylinder has base radius 14
cm and height 21 cm.

Find its curved surface area.

| e |


https://dl.doubtnut.com/l/_Mt5VYMeq0yim
https://dl.doubtnut.com/l/_A2nCQ6syVWcD
https://dl.doubtnut.com/l/_hxpwMIh7ECMj

& Watch Video Solution I

7. A right circular cylinder has base radius 14
cm and height 21 cm.

Find its total surface area.

° Watch Video Solution

8. A right circular cylinder has base radius 14
cm and height 21 cm.

Find its volume.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_hxpwMIh7ECMj
https://dl.doubtnut.com/l/_FSIlSDQfuewY
https://dl.doubtnut.com/l/_HTgiMbusgvVj

9. Find the volume and surface area of a

22

sphere of radius 2.1 cm <7r — 7)

o Watch Video Solution

10. Find the volume and the total surface area

22
of a hemisphere of radius 3.5 cm.. (7r = 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_HTgiMbusgvVj
https://dl.doubtnut.com/l/_BBKZhUWB8oY5
https://dl.doubtnut.com/l/_nIR4cXxk35XD
https://dl.doubtnut.com/l/_AdP9WJ05gLRG

11. Find the volume and surface area of a

22
sphere of radius 21cm | 1 = —
7

o Watch Video Solution

12. A wooden toyrocket is in the shape of a
cone mounted on a cylinder as shown in the
adhacent figure. The height of the entire
rocket is 26 cm, while the height of the concial
part is 6 cm. The base of the conical position
has a diameter of 5 cm, while the base

diameter of the cylindrical portion is 3 cm. If


https://dl.doubtnut.com/l/_AdP9WJ05gLRG
https://dl.doubtnut.com/l/_qbsJSDYx6yzG

the conical portion is to be painted orange
and the cylindrical portion is to be painted
yellow , find the area of the pocket painted

with each of these color (take m = 3.14)

O Watch Video Solution

13. A solid toy is in the form of a right circular
cylinder with hemispherical shape at one end
and a cone at the other end. Their common
diameter is 4.2 cm and the height of the

cylindrical and conical portions are 12 cm and


https://dl.doubtnut.com/l/_qbsJSDYx6yzG
https://dl.doubtnut.com/l/_QiIZk51XJ3gA

7 cm respectively. Find the volume of the solid

22
toy. (Use m = 7)

° Watch Video Solution

14. A cylindrical container is filled with ice-
cream whose diameter is 12 cm and height is
15 cm . The whole ice cream is distributed to 10
children by filling in equal cones and forming
hemispherical tops. If the height of the conical
portion is twice the diameter of its base. Find

the diameter of the ice cream cone.

| e |


https://dl.doubtnut.com/l/_QiIZk51XJ3gA
https://dl.doubtnut.com/l/_X8BUCId0ieFr

& Watch Video Solution I

15. A cylinderical mug of radius 5 cm and
height 9.8 cm is full of water. A solid in the
form of right circular cone mounted on a
hemisphere is immersed into the mug. The
radius of the hemisphere is 3.5 cm ad height
of conical part 5 cm . Find the volume of water

22
left in the tub (Take m = 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_X8BUCId0ieFr
https://dl.doubtnut.com/l/_3ZqhyFM7067r

16. A cylindrical pencil is sharpened to produce

a perfect cone at one end with no over all its

length. The diameter of the pencil is 1 cm and

the length of the conical portion is 2 cm.

Calculate the volume of the peels. Give your

answer correct to two places if it is in decimal
359

[USE mw = 1—13]

o Watch Video Solution



https://dl.doubtnut.com/l/_3rzizJHxg91y

17. A cone of height 24 cm and radius of base 6
cm is made up of modelling clay. A child
moulds it in the form of a sphere. Find the

radius of the shape.

o Watch Video Solution

18. The internal and external diameter of a
hollow hemispherical shell are 6 cm and 10 cm

respectively. If it is melted and recast into a


https://dl.doubtnut.com/l/_A6j3rrV5kNzO
https://dl.doubtnut.com/l/_zdcYFshgWwnW

solid cylinder of diameter 14 cm, then find the

height of the cylinder.

° Watch Video Solution

19. A hemispherical bowl of internal radius 15
cm contains a liquid. The liquid is to be filled
into cylindrical bottles of diameter 5 cm and
height 6 cm How many bottles are necessary

to empty the bowl ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zdcYFshgWwnW
https://dl.doubtnut.com/l/_PgPoJjyLuTWy
https://dl.doubtnut.com/l/_Bk1mYZMQuNig

20. The diameter of a metallic sphere is 6 cm. It
is melted and drawn into a long wire having a
circular cross section of diameter as 0.2 cm .

Find the length of the wire.

° Watch Video Solution

21. How many spherical balls can be made out
of a solid cube of lead whose edge measures

44 cm and each ball being 4 cm in diameter.

° Watch Video Solution



https://dl.doubtnut.com/l/_Bk1mYZMQuNig
https://dl.doubtnut.com/l/_x4qGaH2EZuLs

22. A women selfhelp group (DWACRA) is
supplied a rectangular solid (cuboid shape) of
wax block with dimensions 66 cm , 42 cm, 21
cm , to prepare cylindrical candles each 4.2 cm
in diameter and 2.8 cm of height . Find the
number of candles prepared using this so

solid .

o Watch Video Solution



https://dl.doubtnut.com/l/_sVt4AMZFMSrX

23. A cylindrical drum has a height of 20 cm
and base radius of 14 cm. Find its curved

surface area and the total surface area

o View Text Solution

24. The curved surface area of a right circular
cylinder of height 14 cm is 88cm? . Find the

diameter of the cylinder

o View Text Solution



https://dl.doubtnut.com/l/_eg1IxHqh8A12
https://dl.doubtnut.com/l/_OtGQNiCJYVue
https://dl.doubtnut.com/l/_BC4uRyYPRc3q

25. A garden roller whose length is 3 m long
and whose diameter is 2.8m is rolled to level a
garden. How much area will it cover in 8

revolutions?

o View Text Solution

26. The radius of a conical tent is 7 m and the
height is 24 m. Calculate the length of the
canvas used to make the tent if the width of

the rectangular canvas is 4 m?

o View Text Solution



https://dl.doubtnut.com/l/_BC4uRyYPRc3q
https://dl.doubtnut.com/l/_cCCWB8TvQngo

27.If the total surface area of a cone of radius

7cm is 704cm?, then find its slant height.

o View Text Solution

28. Find the diameter of a sphere whose

surface area is 154m>.

o View Text Solution



https://dl.doubtnut.com/l/_cCCWB8TvQngo
https://dl.doubtnut.com/l/_ceBI5gfHoGdo
https://dl.doubtnut.com/l/_TYqiYHP1Uj8n

29. The radius of a spherical balloon increases
from 12 cm to 16 cm as air being pumped into
it. Find the ratio of the surface area of the

balloons in the two cases.

o View Text Solution

30. The slant height of a frustum of a cone is 5
cm and the radii of its ends are 4 cm and 1 cm.

Find its curved surface area.

o View Text Solution



https://dl.doubtnut.com/l/_mK6afbG9Wm0w
https://dl.doubtnut.com/l/_cBBYoVslVJnZ

31. Find the volume of a cylinder whose height

is 2 m and whose base area is 250m°.

o View Text Solution

32. The volume of a cylindrical water tank is
1.078 x 10° litres. If the diameter of the tank

is 7m, find its height.

o View Text Solution



https://dl.doubtnut.com/l/_cBBYoVslVJnZ
https://dl.doubtnut.com/l/_W9qso0vrYqvI
https://dl.doubtnut.com/l/_VBMygJXZNJ7e
https://dl.doubtnut.com/l/_V1Ul37fV21qE

33. Find the volume of the iron used to make a
hollow cylinder of height 9 cm and whose
internal and external radii are 21 cm and 28 cm

respectively

° View Text Solution

34. The volume of a solid right circular cone is
11088 cm®. If its height is 24 cm then find the

radius of the cone.

° View Text Solution



https://dl.doubtnut.com/l/_V1Ul37fV21qE
https://dl.doubtnut.com/l/_KcQ0zE4g4jgo
https://dl.doubtnut.com/l/_CLLieXw7DFcZ

35. The ratio of the volumes of two cones is
2: 3. Find the ratio of their radii if the height
of second cone is double the height of the

first.

o View Text Solution

36. The volume of a solid hemisphere is
29106¢cm>. Another hemisphere whose volume
is two-third of the above is carved out. Find

the radius of the new hemisphere.

l o View Text Solution


https://dl.doubtnut.com/l/_CLLieXw7DFcZ
https://dl.doubtnut.com/l/_iM9OO73Rd0Z5

37. Calculate the weight of a hollow brass
sphere if the inner diameter is 14 cm and
thickness is 1mm, and whose density is

17.3g / ecm?®.

o View Text Solution

38. If the radii of the circular ends of a frustum
which is 45 cm high are 28 cm and 7 cm, find

the volume of the frustum.



https://dl.doubtnut.com/l/_iM9OO73Rd0Z5
https://dl.doubtnut.com/l/_LtRwSMJwc8ja
https://dl.doubtnut.com/l/_Ug7OSvFrEUQf

View Text Solution

39. Arul has to make arrangements for the
accommodation of 150 persons for his family
function. For this purpose, he plans to build a
tent which is in the shape of cylinder
surmounted by a cone. Each person occupies 4
sg. m of the space on ground and 40 cu. meter
of air to breathe. What should be the height
of the conical part of the tent if the height of

cylindrical part is 8 m?

o View Text Solution



https://dl.doubtnut.com/l/_Ug7OSvFrEUQf
https://dl.doubtnut.com/l/_61OtBGrTWnhK

40. A funnel consists of a frustum of a cone
attached to a cylindrical portion 12 cm long
attached at the bottom. If the total height be
20 cm, diameter of the cylindrical portion be
12 cm and the diameter of the top of the
funnel be 24 cm. Find the outer surface area of

the funnel.

o View Text Solution



https://dl.doubtnut.com/l/_61OtBGrTWnhK
https://dl.doubtnut.com/l/_ZhlbiM7Gbxul

41. A metallic sphere of radius 16 cm is melted
and recast into small spheres each of radius 2

cm. How many small spheres can be obtained?

o View Text Solution

42. A cone of height 24 cm is made up of
modeling clay. A child reshapes it in the form
of a cylinder of same radius as cone. Find the

height of the cylinder.

o View Text Solution



https://dl.doubtnut.com/l/_j0102LHSs2tI
https://dl.doubtnut.com/l/_dTIoF2GrfTxN

43. A right circular cylindrical container of base
radius 6 cm and height 15 cm is full of ice
cream. The ice cream is to be filled in cones of
height 9 cm and base radius 3 cm, having a
hemispherical cap. Find the number of cones

needed to empty the container.

o View Text Solution



https://dl.doubtnut.com/l/_dTIoF2GrfTxN
https://dl.doubtnut.com/l/_uxtp6phaTMMB

1. A joker's cap is in the form of right circular
cone whose base radius is 7 cm and heights is
24 cm . Find the area of the sheet required to

make 10 such caps.

o Watch Video Solution

2. A sports company was ordered to prepare
100 paper cylinders for packing shuttle cocks.
The requried dimensions of the cylinder are 35

cm length/height and its radius is 7 cm . Find


https://dl.doubtnut.com/l/_WjLm020HBTxk
https://dl.doubtnut.com/l/_ocuzFnQA9WiQ

the required area of thick paper sheet needed

to make 100 cylinders ?

° Watch Video Solution

3. Find the volume of right circular cone with

radius 6 cm and height 7 cm.

o Watch Video Solution

4. The lateral surface area of a cylinder is equal

to the curved surface area of cone . If their


https://dl.doubtnut.com/l/_ocuzFnQA9WiQ
https://dl.doubtnut.com/l/_gObRRC4twuC6
https://dl.doubtnut.com/l/_rke7SBJHps98

bases are the same, find the ratio of the

height of the cylinder to the slant height of

the cone.

° Watch Video Solution

5. A self help group wants to manufacture
joker's caps of 3 cm. radius and 4 cm height. If
the available paper sheet is 1000 cm? , then

how many caps can be manufactured from

that paper sheet ?

° Watch Video Solution



https://dl.doubtnut.com/l/_rke7SBJHps98
https://dl.doubtnut.com/l/_pkBpSOEE4SyS

6. A cylinder and cone have bases of equal
radii and are of equal heights. Show that their

volumes are in the ratio of 3:1

o Watch Video Solution

7.The shape of solid iron rod is cylinderical Its
height is 11 cm and base diameter is 7 cm Then

find the total volume of 50 such rods.

o Watch Video Solution



https://dl.doubtnut.com/l/_pkBpSOEE4SyS
https://dl.doubtnut.com/l/_LJ7EsmE2kWa4
https://dl.doubtnut.com/l/_ecHdLmGjcGt4

8. A heap of rice is in the form of a cone of
diameter 12 cm and height 8 cm . Find its
volume ? How much canvas cloth is required

to cover the heap ? (Use m = 3.14)

° Watch Video Solution

9. The curved surface area of a cone is 4070

em? and its diameter is 70 cm . What is its

slant height ?

° Watch Video Solution



https://dl.doubtnut.com/l/_kg9tfKQLlP5A
https://dl.doubtnut.com/l/_QfMx1lUhO9jg

1. A toy is in form of a cone mounted on a
hemisphere on the same diameter . The
diameter of the base and the height of the
cone are 6 cm and 4 cm respectively.

Determine the surface area of the toy . [use

T = 3.14]

° Watch Video Solution



https://dl.doubtnut.com/l/_QfMx1lUhO9jg
https://dl.doubtnut.com/l/_VUfeNvOyeXkx

2. A solid is in the form of a right circular with
a hemisphere at one end and a cone at the
other end. The radius of the common base is 8
cm and the heights of the cylindrical and
conical portions are 10 cm and 6 cm

respectivly. Find the total surface area of the

solid [use m = 3.14]

o Watch Video Solution



https://dl.doubtnut.com/l/_3WifLKVigO65

3. A medicine capsule is in the shape of a
cylinder with two hemisphere struck to each of
its ends. The length of the entire capsule is 14
mm and the diameter of the capsule is 5 mm.

Find its surface area

o Watch Video Solution

4.Two cubes each of volume 64cm? are joined
end to end together. Find the surface area of

the resulting cuboid.

| & I


https://dl.doubtnut.com/l/_vTPlZEfTD9Vj
https://dl.doubtnut.com/l/_2nyDhEugkYD5

| ¥ Watch Video Solution |

5. A storage tank consists of a circular cylinder
with a hemisphere stuck on either end. If the
external diameter of the cylinder be 1.4 cm and
its length be 8 m. Find the cost of painting it

on the outside at rite of Rs. 20per m?.

o Watch Video Solution

6. A sphere , a cylinder and a cone have the

same radius and same height. Find the ratio of


https://dl.doubtnut.com/l/_2nyDhEugkYD5
https://dl.doubtnut.com/l/_vj1nSmKOyhq5
https://dl.doubtnut.com/l/_LzTktqb3F7Lr

their volumes.
[Hint : Diameter of the sphere is equal to the

heights of the cylinder and the cone]

° Watch Video Solution

7. A hemisphere is cut from one face of a
cubical wooden block such that the diameter
of the hemisphere is equal to the side of the
cube. Determine the total surface area of the

remaining solid.

° Watch Video Solution



https://dl.doubtnut.com/l/_LzTktqb3F7Lr
https://dl.doubtnut.com/l/_50Q5Vf4qDEjf

8. A wooden article was made by scooping out
a hemisphere from each end of a cylinder as
shown in figure. If the height of the cylinder is

10 cm and its base is of radius 3.5 cm find the


https://dl.doubtnut.com/l/_50Q5Vf4qDEjf
https://dl.doubtnut.com/l/_mj3KmUEAmtNu

total surface area of the article.

o Watch Video Solution



https://dl.doubtnut.com/l/_mj3KmUEAmtNu

1. A'iron pillar consists of a cylindrical portion
of 2.8 m height and 20 cm in diameter and a
cone of 42 cm height sumounting it. Find the

weight of the pillar if 1 cm? of iron weights 7.5

g.

o Watch Video Solution

2. A toy is made in the form of hemisphere
sumounted by a right cone whose circular

base is joined with the plane surface of the


https://dl.doubtnut.com/l/_StD1zjvOsvBr
https://dl.doubtnut.com/l/_cV1pA5H7naGr

hemisphere . The radius of the base of the
cone is 7 cm and its volume is 2 of the
hemisphere . Calculate the height of the cone

and the surface area of the toy correct to 2

places of decimal (Take 7 = 3—)

7

° Watch Video Solution

3. Find the volume of the largest right circular
cone that can be cut out of a cube whose edge

is 7 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_cV1pA5H7naGr
https://dl.doubtnut.com/l/_JOARGxtgdKzO

4. A cylinderical mug of radius 5 cm and height

9.8 cm is full of water. A solid in the form of

right circular cone mounted on a hemisphere

is immersed into the mug. The radius of the

hemisphere is 3.5 cm ad height of conical part

5 cm . Find the volume of water left in the tub
22

Take m = —
(Take 7 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_JOARGxtgdKzO
https://dl.doubtnut.com/l/_YcT2d1c97Y5l

5. From a solid cylinder whose height is 2.4 cm
and the diameter 14 cm, a cone of the same
height and same diameter is carved out. Find
the volume of the remaining solid to the

nearest cm3.

o Watch Video Solution

6. Spherical shaped marbles of diameter 1.4cm
each, are dropped into a cylindrical beaker of

diameter 7cm containing some water. Find the


https://dl.doubtnut.com/l/_ZYHQk4iUdnHF
https://dl.doubtnut.com/l/_i8tqdOvBLRfF

number of marbles that should be dropped
into the beaker so that the water level rises by

5.6cm.

o Watch Video Solution

7. Find the dimensions of the rectangle with
maximum area that can be inscribed in a circle

of radius 10 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_i8tqdOvBLRfF
https://dl.doubtnut.com/l/_WLpfJFOpG1Bw

Exercise 10 4

1. A metallic sphere of radius 4.2 cm is melted
and recast into the shape of a cylinder of

radius 6cm. Find the height of the cylinder.

° Watch Video Solution

2. Three metallic spheres of radii 6 cm, 8 cm
and 10 cm respectively are melted together to
form a single solid sphere. Find the radius

ofthe resulting sphere.


https://dl.doubtnut.com/l/_oJoVKKqzJoKG
https://dl.doubtnut.com/l/_fLv1hVZsewHq

° Watch Video Solution

3.A 20m deep well of diameter 7 m is dug and
the earth got by digging is evenly spread out
to form a rectangular platform of base 22 m

X 14 m. Find the height of the platform.

o Watch Video Solution

4. A well of diameter 14 m is dug 15 m deep.

The earth taken out of it has been spread


https://dl.doubtnut.com/l/_fLv1hVZsewHq
https://dl.doubtnut.com/l/_392gbjshwhwT
https://dl.doubtnut.com/l/_fgPwrDqWBoOa

evenly to form circular embankment all around
the wall of width 7 m. Find the height of the

embankment.

o Watch Video Solution

5. A container shaped a right circular cylinder
having diameter 12 cm and height 15 cm is full
of ice cream. The ice cream is to be filled into
cones of height 12 cm and diameter 6 cm,

making a hemispherical shape on the top. Find


https://dl.doubtnut.com/l/_fgPwrDqWBoOa
https://dl.doubtnut.com/l/_7t4LPQ6C0B29

the number of such cones which can be filled

with ice cream.

° Watch Video Solution

6. How many silver coins, 1.75 cm in diameter
and thickness 2 mm, need to be melted to
form a cuboid of dimensions

5.5em X 10em X 3.5em?

o Watch Video Solution



https://dl.doubtnut.com/l/_7t4LPQ6C0B29
https://dl.doubtnut.com/l/_ZzsswBha4u6W

7. A vessel is in the form of an inverted cone.
Its height is 8 cm. and the radius of its top is 5
cm. It is filled with water up to the rim. When
lead shots, each of which is a sphere of radius
0.5cm are dropped into the vessel, 1 of the

water flows out. Find the number of lead shots

dropped into the vessel.

o Watch Video Solution



https://dl.doubtnut.com/l/_YxmMRTdrC38N

8. A solid metallic sphere of diameter 28 cm is
melted and recast into a number of smaller
cones, each of diameter 4— cm and height

3

3cm. Find the number of cones so formed.

° Watch Video Solution

Optional Exercise

1. A golf ball has diameter equal to 4.1 cm. lIts

surface has 150 dimples each of radius 2 mm.


https://dl.doubtnut.com/l/_GnmvL9RH85e9
https://dl.doubtnut.com/l/_B1EbFNWpH8Ko

Calculate total surface area which is exposed

to the surroundings. (Assume that the dimples

: : 22
are all hemispherical) |7 = =

o Watch Video Solution

2. A cylinder of radius 12 cm contains water to
a depth of 20 cm. When a spherical iron ball is
dropped in to the cylinder, the level of water is

raised by 6.75 cm. Find the radius of the ball.

-2

O Watch Video Solution



https://dl.doubtnut.com/l/_B1EbFNWpH8Ko
https://dl.doubtnut.com/l/_a1U8oUIuTfeF

3. A solid toy is in the form of a right circular
cylinder with a hemispherical shape at one
end and a cone at the other end. Their
common diameter is 4.2 cm. and heights of
the cylindrical and concial portion are 12 cm.

and 7 cm. respectively. Find the volume of the

, 22
solid toy. [7? = —]
7

o Watch Video Solution



https://dl.doubtnut.com/l/_a1U8oUIuTfeF
https://dl.doubtnut.com/l/_wNXoSS19oT5e

4. Three metal cubes with edges 15 cm, 12 cm
and 9 cm, respectively are melted together
and formed into a single cube. Find the

diagonal of this cube.

o Watch Video Solution

5. A hemispherical bowl of internal diameter
36 cm. contains a liquid. This liquid is to be

filled in cylindrical bottles of radius 3 cm and


https://dl.doubtnut.com/l/_8wm7daQtHIyl
https://dl.doubtnut.com/l/_tS2m5bomUM5C

height 6 cm. How many bottles are required to

empty the bowl?

A. .72

B. 36

C. 54

D. 43

Answer: A

° Watch Video Solution

Progress Check


https://dl.doubtnut.com/l/_tS2m5bomUM5C

1. A section of the sphere by a plane through

any of its great circle is

° Watch Video Solution

1. The radius and height of a cylinder are in the
ratio 5: 7 and its curved surface area is 5500

sg.cm. Find its radius and height.

l a View Text Solution


https://dl.doubtnut.com/l/_1hvgriBu0jbc
https://dl.doubtnut.com/l/_2PT5sy6DgPjq

2. A solid iron cylinder has total surface area of
1848 sg.m. Its curved surface area is five - sixth
of its total surface area. Find the radius and

height of the iron cylinder.

o View Text Solution

3. The external radius and the length of a

hollow wooden log are 16 cm and 13 cm


https://dl.doubtnut.com/l/_2PT5sy6DgPjq
https://dl.doubtnut.com/l/_vsXk85EF0cMW
https://dl.doubtnut.com/l/_Um7mMymdGUbz

respectively. If its thickness is 4 cm then find

its T.S.A.

o View Text Solution

4. A right angled triangle PQR where
Z) = 90° is rotated about QR and PQ. If QR=
16cm and PR=20cm, compare the curved
surface areas of the right circular cones so

formed by the triangle

o View Text Solution



https://dl.doubtnut.com/l/_Um7mMymdGUbz
https://dl.doubtnut.com/l/_NW2vmyNTxoD7
https://dl.doubtnut.com/l/_GvFf84v8ERwd

5. 4 persons live in a conical tent whose slant
height is 19 cm. If each person require 22cm?”
of the floor area, then find the height of the

tent.

o View Text Solution

6. A girl wishes to prepare birthday caps in the
form of right circular cones for her birthday
party, using a sheet of paper whose area is
5720cm?, how many caps can be made with

radius 5 cm and height 12 cm.


https://dl.doubtnut.com/l/_GvFf84v8ERwd
https://dl.doubtnut.com/l/_kFGUJ3Vvoetb

° Watch Video Solution

7. The ratio of the radii of two right circular
cones of same height is 1: 3. Find the ratio of
their curved surface area when the height of
each cone is 3 times the radius of the smaller

cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_kFGUJ3Vvoetb
https://dl.doubtnut.com/l/_qsB9L7DZNo8c

8. The radius of a sphere increases by 25% .
Find the percentage increase in its surface

area.

o Watch Video Solution

9. The internal and external diameters of a
hollow hemispherical vessel are 20 cm and 28
cm respectively. Find the cost to paint the

vessel all over at Rs. 0.14 per cm?.

° Watch Video Solution



https://dl.doubtnut.com/l/_FTYsRmwz8A77
https://dl.doubtnut.com/l/_F3O2VA8rjKXn

1. A 14 m deep well with inner diameter 10 m is

dug and the earth taken out is evenly spread

all around the well to form an embankment of

width 5 m. Find the

embankment.

height

of the

o Watch Video Solution



https://dl.doubtnut.com/l/_F3O2VA8rjKXn
https://dl.doubtnut.com/l/_z0gdLTakLhoo

2. A cylindrical glass with diameter 20 cm has
water to a height of 9 cm. A small cylindrical
metal of radius 5 cm and height 4 cm is
immersed it completely. Calculate the raise of

the water in the glass ?

o Watch Video Solution

3. If the circumference of a conical wooden
piece is 484 cm then find its volume when its

height is 105 cm

| & I


https://dl.doubtnut.com/l/_fdo8YerQA8vC
https://dl.doubtnut.com/l/_nfL3A5A0ENjR

| ¥ Watch Video Solution |

4. A conical container is fully filled with petrol.
The radius is 10 m and the height is 15 m. If the
container can release the petrol through its
bottom at the rate of 25 cu. Meter per minute,
in how many minutes the container will be
emptied. Round off your answer to the nearest

minute.

o Watch Video Solution



https://dl.doubtnut.com/l/_nfL3A5A0ENjR
https://dl.doubtnut.com/l/_yqda04fkpX1H

5. A right angled triangle whose sides are 6
cm, 8 cm and 10 cm is revolved about the sides
containing the right angle in two ways. Find
the difference in volumes of the two soilds so

formed.

o Watch Video Solution

6. The volumes of two cones of same base
radius are 3600cm® and 5040cm?. Find the

ratio of heights.

| & I


https://dl.doubtnut.com/l/_BwrYbN7pTUx3
https://dl.doubtnut.com/l/_FLTVfbFkElAR

| ¥ Watch Video Solution |

7.1f the ratio of radii of two speres is 4 : 7, find

the ratio of their volumes.

o Watch Video Solution

8. A solid sphere and a sloid hemisphere have
equal total surface area. Prove that the ratio

of their volume is 3,/3: 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_FLTVfbFkElAR
https://dl.doubtnut.com/l/_PcH3VWLen1vt
https://dl.doubtnut.com/l/_mFWyPIePn1Bx

9. The outer and the inner surface areas of a
spherical copper shell are
576mem? and 324wem? respectively. Find the

volume of the material required to make the

shell.

o Watch Video Solution

10. A container open at the top is in the form
of a frustum of a cone of height 16 cm with

radii of its lower and upper ends are 8 cm and


https://dl.doubtnut.com/l/_2wuv32sEvOA4
https://dl.doubtnut.com/l/_EMtA2wQTHl8K

20 cm respectively. Find the cost of milk which
can completely fill a container at the rate of

Rs. 40 per litre.

o Watch Video Solution

1. A vessel is in the form of a hemispherical
bowl mounted by a hollow cylinder. The
diameter is 14 cm and the height of the vessel

is 13 cm. Find the capacity of the vessel.



https://dl.doubtnut.com/l/_EMtA2wQTHl8K
https://dl.doubtnut.com/l/_XW1WbuShv5Dc

o Watch Video Solution

2. Nathan, an engineering student was asked
to make a model shaped like a cylinder with
two cones attached at its two ends. The
diameter of the model is 3 cm and its length is
12 cm. If each cone has a height of 2 cm, find

the volume of the model that Nathan made.

o Watch Video Solution



https://dl.doubtnut.com/l/_XW1WbuShv5Dc
https://dl.doubtnut.com/l/_CYaazh10Zjn0

3. From a solid cylinder whose height is 2.4 cm
and the diameter 1.4 cm, a cone of the same
height and same diameter is carved out. Find
the volume of the remaining solid to the

nearest cm3.

o Watch Video Solution

4. A capsule is in the shape of a cylinder with
two hemisphere stuck to each of its ends. If

the length of the entire capsule is 12 mm and


https://dl.doubtnut.com/l/_IkiEhVAnaH0j
https://dl.doubtnut.com/l/_8Ofdqv3UzA4T

the diameter of the capsule is 3 mm, how

much medicine it can hold?

° View Text Solution

5. A right circular cylinder just enclose a
sphere of radius r units. Calculate

the surface area of the sphere

° View Text Solution



https://dl.doubtnut.com/l/_8Ofdqv3UzA4T
https://dl.doubtnut.com/l/_i5fmdnCrIGQu

6. A right circular cylinder just enclose a
sphere of radius r units. Calculate

the curved surface area of the cylinder

o View Text Solution

7. A right circular cylinder just enclose a
sphere of radius r units. Calculate

the ratio of the areas obtained in (i) and (ii).

o View Text Solution



https://dl.doubtnut.com/l/_wioFdTlGYVlX
https://dl.doubtnut.com/l/_EVgbxVtkURPT
https://dl.doubtnut.com/l/_StXEDi1afFZc

8. A shuttle cork used for playing badminton
has the shape of a frustum of a cone is
mounted on a hemisphere. The diameters of
the frustum are 5 cm and 2 cm. The height of
the entire shuttle cork is 7 cm. Find its

external surface area.

° View Text Solution



https://dl.doubtnut.com/l/_StXEDi1afFZc

1. An aluminium sphere of radius 12 cm is
melted to make a cylinder of radius 8 cm. Find

the height of the cylinder.

o View Text Solution

2. Water is flowing at the rate of 15 km per
hour through a pipe of diameter 14 cm into a
rectangular tank which is 50 m long and 44 m
wide. Find the time in which the level of water

in the tanks will rise by 21 cm.

| & |


https://dl.doubtnut.com/l/_g0X5MQIXWpVG
https://dl.doubtnut.com/l/_cdAMG5RMGvfZ

| ¥ View Text Solution |

3. A conical flask is full of water. The flask has
base radius r units and height h units, the
water poured into a cylindrical flask of base
radius xr units. Find the height of water in the

cylindrical flask.

o View Text Solution

4. A solid right circular cone of diameter 14 cm

and height 8 cm is melted to form a hollow


https://dl.doubtnut.com/l/_cdAMG5RMGvfZ
https://dl.doubtnut.com/l/_xLZeSoA4nbWd
https://dl.doubtnut.com/l/_Xfa5dnAeAM3w

sphere. If the external diameter of the sphere

is 10 cm, find the internal diameter.

° View Text Solution

5. Seenu’s house has an overhead tank in the
shape of a cylinder. This is filled by pumping
water from a sump (underground tank) which
is in the shape of a cuboid. The sump has
dimensions 2m X 1.5m X 1m. The overhead
tank has its radius of 60 cm and height 105 cm.

Find the volume of the water left in the sump


https://dl.doubtnut.com/l/_Xfa5dnAeAM3w
https://dl.doubtnut.com/l/_U901KoMAAGAy

after the overhead tank has been completely
filled with water from the sump which has

been full, initially.

° View Text Solution

6. The internal and external diameter of a
hollow hemispherical shell are 6 cm and 10 cm
respectively. If it is melted and recast into a
solid cylinder of diameter 14 cm, then find the

height of the cylinder.

° View Text Solution



https://dl.doubtnut.com/l/_U901KoMAAGAy
https://dl.doubtnut.com/l/_C0rzIRHoLmWJ

7. A solid sphere of radius 6 cm is melted into
a hollow cylinder of uniform thickness. If the
external radius of the base of the cylinder is 5
cm and its height is 32 cm, then find the

thickness of the cylinder.

o View Text Solution

8. A hemispherical bowl is filled to the brim
with juice. The juice is poured into a cylindrical

vessel whose radius is 50% more than its


https://dl.doubtnut.com/l/_C0rzIRHoLmWJ
https://dl.doubtnut.com/l/_cvqEsbmo78eo
https://dl.doubtnut.com/l/_AezVTv7T8NOJ

height. If the diameter is same for both the
bowl and the cylinder then find the
percentage of juice that can be transferred

from the bowl into the cylindrical vessel.

° View Text Solution

Exercise 7 5 Multiple Choice Questions

1. The curved surface area of a right circular

cone of height 15 cm and base diameter 16 cm

IS


https://dl.doubtnut.com/l/_AezVTv7T8NOJ
https://dl.doubtnut.com/l/_CiygVfBdHEbu

A. 60mem?
B. 687mcm?

C. 120wrem?

D. 1367em?

Answer: D

o View Text Solution

2. If two solid hemispheres of same base

radius r units are joined together along their


https://dl.doubtnut.com/l/_CiygVfBdHEbu
https://dl.doubtnut.com/l/_QICtbBTPCeMi

bases, then curved surface area of this new
solid is

A. 4772 sq units

B. 671” sq units

C. 3mr? sq units

D. 87r? sq units

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_QICtbBTPCeMi

3. Th e height of a right circular cone whose

radius is 5 cm and slant height is 13 cm will be

A.12cm

B. 10cm

C.13cm

D. 5cm

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_qNVm1uJAFxww
https://dl.doubtnut.com/l/_tpk16Pt4hWRS

4. If the radius of the base of a right circular
cylinder is halved keeping the same height,
then the ratio of the volume of the cylinder
thus obtained to the volume of original
cylinder is

A l:2

B.1:4

C.1:6

D.1:8

Answer: B

| s ]


https://dl.doubtnut.com/l/_tpk16Pt4hWRS

¥ View Text Solution ]

5. The total surface area of a cylinder whose

radius is 3 of its height is

A 9rh?
-8

sq units

B. 247h? sq units

8mh? ,
sq units
56mh? :
D. sq units
9
Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_tpk16Pt4hWRS
https://dl.doubtnut.com/l/_Eb6p7mSyHncl

6.1n a hollow cylinder, the sum of the external

and internal radii is 14 cm and the width is 4

cm. If its height is 20 cm, the volume of the

material in it is

A. 5600mem®

B. 11200mem?®

C.56mem?

D. 3600rcm?®

Answer: B


https://dl.doubtnut.com/l/_Eb6p7mSyHncl
https://dl.doubtnut.com/l/_dS6BKfhVAauR

o View Text Solution

7. If the radius of the base of a cone is tripled

and the height is doubled then the volume is

A. made 6 times

B. made 18 times

C. made 12 times

D. unchanged

Answer: B

| 8 l


https://dl.doubtnut.com/l/_dS6BKfhVAauR
https://dl.doubtnut.com/l/_EGmHJpOFqxnC

8. The total surface area of a hemi-sphere is

how much times the square of its radius

B. 4m

C.3m

D. 27

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_EGmHJpOFqxnC
https://dl.doubtnut.com/l/_V0ZSNSCLSTaC

9. A solid sphere of radius x cm is melted and

cast into a shape of a solid cone of same

radius. The height of the cone is

A. 3x cm

B.xcm

C.4xcm

D. 2x cm

Answer: C

’ o View Text Solution


https://dl.doubtnut.com/l/_V0ZSNSCLSTaC
https://dl.doubtnut.com/l/_IgM6JH17UHc5

10. A frustum of a right circular cone is of

height 16cm with radii of its ends as 8cm and

20cm. Then, the volume of the frustum is

A. 3328mcm’

B. 32287mcm’

C. 3240mem?

D. 3340mcm®

Answer: A

| €8


https://dl.doubtnut.com/l/_IgM6JH17UHc5
https://dl.doubtnut.com/l/_zDLNQQA6B6eI

| ¥ View Text Solution J

11. A shuttle cock used for playing badminton

has the shape of the combination of

A. a cylinder and a sphere

B. a hemisphere and a cone

C.a sphere and a cone

D. frustum of a cone and a hemisphere

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_zDLNQQA6B6eI
https://dl.doubtnut.com/l/_ZufhOdDH8oBE

12. A spherical ball of radius 7 units is melted

to make 8 new identical balls each of radius r4

units. Then r;: 7y is

A2:1

B.1:2

C.4:1

D.1:4

Answer: A

I o View Text Solution


https://dl.doubtnut.com/l/_ZufhOdDH8oBE
https://dl.doubtnut.com/l/_p0NDQ7F3oflO

13. The volume (in em?®) of the greatest sphere
that can be cut off from a cylindrical log of

wood of base radius 1 cm and height 5 cm is

A —T

10

B. —m

C.bm

20

D. —m

Answer: A

| N |


https://dl.doubtnut.com/l/_p0NDQ7F3oflO
https://dl.doubtnut.com/l/_iDxRJRtddZ6I

| ¥ View Text Solution ]

14. The height and radius of the cone of which
the frustum is a part are h; units and r; units
respectively. Height of the frustum is hs units
and radius of the smaller base is ro units. If

h2!h1 = 1:2thenr2:r1 IS

A1:3

B.1:2

C. None of these

D.3:1


https://dl.doubtnut.com/l/_iDxRJRtddZ6I
https://dl.doubtnut.com/l/_0B05Yip4zuxN

Answer: B

o View Text Solution

15. The ratio of the volumes of a cylinder, a

cone and a sphere, if each has the same

diameter and same height is

Al1:2:3

B.2:1:3

C.1:3:2

D.3:1:2


https://dl.doubtnut.com/l/_0B05Yip4zuxN
https://dl.doubtnut.com/l/_65ZfrYQ1oj9i

Answer: D

o View Text Solution

Unit Exercise 7

1. The barrel of a fountain-pen cylindrical in

shape, is 7 cm long and 5 cm in diameter. A full
barrel of ink in the pen will be used for writing
330 words on an average. How many words
can be written using a bottle of ink containing

one fifth of a litre ?


https://dl.doubtnut.com/l/_65ZfrYQ1oj9i
https://dl.doubtnut.com/l/_Uq8YomASyO9M

° Watch Video Solution

2. A hemi-spherical tank of radius 1.75 m is full
of water. It is connected with a pipe which
empties the tank at the rate of 7 litre per
second. How much time will it take to empty

the tank completely ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Uq8YomASyO9M
https://dl.doubtnut.com/l/_W0yiBfc3x43W

3. Find the maximum volume of a cone that
can be carved out of a solid hemisphere of

radius r units.

o Watch Video Solution

4. An oil funnel of tin sheet consists of a
cylindrical portion 10 cm long attached to a
frustum of a cone. If the total height is 22 cm,
the diameter of the cylindrical portion be 8 cm

and the diameter of the top of the funnel be


https://dl.doubtnut.com/l/_kb3lXOFAnDdf
https://dl.doubtnut.com/l/_UahewWNlfUNl

18 cm, then find the area of the tin sheet

required to make the funnel.

° Watch Video Solution

5. Find the number of coins, 1.5 cm in diameter
and 2 mm thick, to be melted to form a right
circular cylinder of height 10 cm and diameter

4.5 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_UahewWNlfUNl
https://dl.doubtnut.com/l/_p5kADDk7JIV5

6. A hollow metallic cylinder whose external
radius is 4.3 cm and internal radius is 11 cm
and whole length is 4 cm is melted and recast
into a solid cylinder of 12 cm long. Find the

diameter of solid cylinder.

o Watch Video Solution

7. The slant height of a frustum of a cone is 4

m and the perimeter of circular ends are 18 m


https://dl.doubtnut.com/l/_evZl6o9ui7jZ
https://dl.doubtnut.com/l/_TVertEVqWHiP

and 16 m. Find the cost of painting its curved

surface area at Rs 100 per sq. m.

° Watch Video Solution

8. A hemi-spherical hollow bowl has material of

4367

volume cubic cm. Its external diameter

is 14 cm. Find its thickness.

° Watch Video Solution



https://dl.doubtnut.com/l/_TVertEVqWHiP
https://dl.doubtnut.com/l/_M9nkv0VDJGf1

9. The volume of a cone is 10057 cu. Cm. The

area of its base is 2017 sg. cm. Find the slant

height of the cone.

o Watch Video Solution

10. A metallic sheet in the form of a sector of a
circle of radius 21 cm has central angle of 216°
. The sector is made into a cone by bringing
the bounding radii together. Find the volume

of the cone formed.

| & I


https://dl.doubtnut.com/l/_ACYWNJ6Pwyj5
https://dl.doubtnut.com/l/_Pcsp8cHm6TZm

| ¥ View Text Solution



https://dl.doubtnut.com/l/_Pcsp8cHm6TZm

